New Modified Adomian Decomposition Method for Solving Second-Order Boundary Value Problems with Neumann Conditions

Justina Mulenga¹, Patrick Azere Phiri²

Department of Mathematics, School of Mathematics and Natural Sciences, The Copper- belt University, Kitwe, Zambia

Abstract: In this paper, a modification of the Adomian Decomposition Method called New Modified Adomian Decomposition Method is proposed. The proposed method is based on the Modified Adomian Decomposition Method and the inverse linear operator theorem. Some examples are presented to show the ability of the method for linear and nonlinear second- order boundary value problems with Neumann conditions.

Keywords: Neumann boundary conditions, New Modified Adomian Decomposition Method, Boundary Value Problems

1. Introduction

A Boundary Value Problem (BVP) is a system of ordinary differential equations with solutions and derivative value specified at more than one point. Most commonly at just two points (boundaries) defining a two-point boundary value problem. BVPs arise in science and engineering and most of them do not have exact solutions. As a result semi-analytical and numerical methods are used to solve BVPs. The analysis of literature shows that not much is done on solutions of second-order two-point BVPs with Neumann boundary conditions. [1] Solved linear second order twopoint boundary prob- lems with Neumann boundary conditions using Quadratic Spline, Cubic Polynomials and Nonpolynomial Spline. [2] used Polynomial Spline approach to solve linear and nonlin- ear second-order twopoint boundary problems with Neumann boundary conditions. [3] and [4] solved second order BVPs with Advanced Neumann conditions using Adomian Decomposition Method (AADM).

In this paper, we solve second-order BVPs using a new method called New Modified Adomian Decompositon Method (NMADM). It is based on the traditional Adomian De- composition Method (ADM), the Modified Adomian Decomposition Method (MADM) and the inverse linear operator theorem found in [3].

2. Analysis of ADM, MADM and NMADM

Consider the general form of a two-point nonlinear second-order BVP:

$$y^{tt}(x) + h(x, y) = g(x), \qquad a \le x \le b,$$
 (1)
nn boundary conditions

with Neumann boundary conditions

$$y^{t}(a) = \delta_{1}$$
$$y^{t}(b) = \delta_{2}, \qquad (2)$$

where h(x, y) is a linear or nonlinear function of *y* and g(x) are continuous functions defined in the interval $x \in [a, b]$ and δ_1 , δ_2 are real constants. In operator form [5-8], equation (1) can be written as:

$$Ly = g(x) - Ny, \tag{3}$$

where $L = \frac{d^2}{dx^2}$ is the linear operator and Ny = h(x, y) is the nonlinear operator.

The ADM expresses the solution of (1) into infinite series as follows:

$$y(x) = \sum_{n=0}^{\infty} y_n(x) \tag{4}$$

and the nonlinear term h(x, y) is decomposed into:

$$Vy = \sum_{n=0}^{\infty} A_n \tag{5}$$

where the A'_{n^s} are called Adomian polynomials and are calculated by the formular,

$$A_n = \frac{1}{n!} \frac{d^n}{d\lambda^n} \left[N\left(\sum_{i=0}^{\infty} \lambda^i y^i\right) \right]_{\lambda=0}, n = 0, 1, 2, \dots (6)$$

2.1 ADM

Applying the inverse operator $L^{-1}[\cdot] = \int_2^x \int_0^2 [\cdot] dx dx$ on both sides equation (3) together with equation (2), we obtain the following:

$$y(x) = k_1 + k_2 x + L^{-1}g(x) - L^{-1}Ny$$
(7)

where k_1 and k_2 are constants of integration. Substituting equations (4) and (5) into equation (7) yields,

$$\sum_{n=0}^{\infty} y_n(x) = k_1 + k_2 x + L^{-1} g(x) - L^{-1} \left[\sum_{n=0}^{\infty} A_n \right]$$
(8)

From equation (8), we can write the following recursive: $y_0 = k_1 + k_2 x + L^{-1} g(x)$ $y_{n+1} = -L^{-1} A_n$, n = 0, 1, 2,

Volume 9 Issue 9, September 2020

<u>www.ijsr.net</u>

Licensed Under Creative Commons Attribution CC BY

2.2 MADM

Rewriting equation (8) by inserting the following expression [9-11],

$$L^{-1}\left[\sum_{n=0}^{\infty}a_nx^n\right] - pL^{-1}\left[\sum_{n=0}^{\infty}a_nx^n\right]$$

We get the following:

$$\sum_{n=0}^{\infty} y_n(x) = k_1 + k_2 x + L^{-1} \left[\sum_{n=0}^{\infty} a_n x^n \right] - pL^{-1} \left[\sum_{n=0}^{\infty} a_n x^n \right] + L^{-1} g(x) - L^{-1} \left[\sum_{n=0}^{\infty} A_n \right], (10)$$

where p is an artificial parameter and a'_n , n = 0, 1, 2, ..., are unknown coefficients. From equation (10), we obtain the following recursive:

$$y_0 = k_1 + k_2 x + L^{-1} \left[\sum_{n=0}^{\infty} a_n x^n \right],$$

$$y_1 = -pL^{-1} \left[\sum_{n=0}^{\infty} a_n x^n \right] + L^{-1} g(x) - L^{-1} A_0,$$

$$y_{n+1} = -L^{-1} A_n, \ n = 1, 2, \cdots.$$

To avoid the calculations of A_n , $n = 1, 2, \dots$, we determine a_n , for $n = 1, 2, \dots$ such that $\mu_1 = 0$. Consequently, $\mu_2 = u_3 = \dots 0$. We set p = 1 and find the solution of equation (1) as:

$$y(x) = k_1 + k_2 x + L^{-1} \left[\sum_{n=0}^{\infty} a_n x^n \right]$$

2.3 NMADM

Operating on the left hand side of equation (3) with the inverse operator

 $L_{xx}^{-1}[\cdot] = \int_{\Omega}^{x} ds \int_{a}^{s} [\cdot] dt + \frac{1}{\Omega} \int_{0}^{\Omega} ds \left(s \int_{b}^{s} [\cdot] dt\right) [4]$ and introducing $L^{-1}[\cdot]$, we obtain the following equation

$$y(x) = (x - \Omega)y'(a) + \frac{\Omega}{2}y'(b) + \frac{1}{\Omega}\int_0^{\Omega} y(x)dx + L^{-1}g(x) - L^{-1}Ny.$$
 (11)

Substituting equations (4) and (5) and inserting equation (9) in equation (11), we obtain the following:

$$\sum_{n=0}^{\infty} y_n(x) = (x - \Omega)y'(a) + \frac{\Omega}{2}y'(b) + \frac{1}{\Omega} \int_0^{\Omega} y(x)dx + L^{-1} \left[\sum_{n=0}^{\infty} a_n x^n\right] -pL^{-1} \left[\sum_{n=0}^{\infty} a_n x^n\right] + L^{-1}g(x) - L^{-1} \left[\sum_{n=0}^{\infty} A_n\right] (12)$$

From equation (12), the iterations are then determined in the following recursive way:

$$y_{0} = (x - \Omega)y'(a) + \frac{\Omega}{2}y'(b) + \frac{1}{\Omega}\int_{0}^{\Omega}y(x)dx + L^{-1}\left[\sum_{n=0}^{\infty}a_{n}x^{n}\right] y_{1} = -pL^{-1}\left[\sum_{n=0}^{\infty}a_{n}x^{n}\right] + L^{-1}g(x) - L^{-1}A_{0}$$

 $y_{n+1} = -L^{-1}A_n, n = 1, 2, \cdots$

Thus calculating the coefficients a_n , for $n = 0, 1, 2, \cdots$ and setting p = 1 as $\Omega \rightarrow 0$, we write the solution to equation (1) as,

$$y(x) = x\delta_{-1} + L^{-1} \left[\sum_{n=0}^{\infty} a_n x^n\right]$$
 (13)

3. Numerical Illustrations

Example 1. [4]

y

Consider the following linear second-order two-point BVP

$$y'' + y = -1, \quad 0 \le x \le 1$$
 (14)

$$y'(0) = \frac{1 - \cos(1)}{\sin(1)} = y'(1)$$

In operator form, equation (14) can be written as,

$$L(y'') = L(-y - 1)$$
(15)

By using equation (12), we have the following:

$$\sum_{n=0}^{\infty} y_n(x) = (x - \Omega)y'(a) + \frac{\Omega}{2}y'(b) + \frac{1}{\Omega} \int_0^{\Omega} y(x)dx + L^{-1} \left[\sum_{n=0}^{\infty} a_n x^n\right] - pL^{-1} \left[\sum_{n=0}^{\infty} a_n x^n\right] + L^{-1} L^{-1} \left[\sum_{n=0}^{\infty} y_n\right] (16)$$

Thus,

$$y_0 = (x - \Omega)u'(a) + \frac{\Omega}{2}u'(b) + \frac{1}{\Omega}\int_0^\Omega u(x)dx + L^{-1}\left[\sum_{n=0}^\infty a_n x^n\right]),$$

= $\left(\frac{1-\cos(1)}{\sin(1)}\right)x + \frac{a_0x^2}{2} + \frac{a_1x^3}{6} + \frac{a_2x^4}{12} + \frac{a_3x^5}{20} + \frac{a_4x^6}{30} + \frac{a_5x^7}{42} + \cdots$

And

Volume 9 Issue 9, September 2020

<u>www.ijsr.net</u>

Licensed Under Creative Commons Attribution CC BY

International Journal of Science and Research (IJSR) ISSN: 2319-7064 ResearchGate Impact Factor (2018): 0.28 | SJIF (2019): 7.583

$$y_{1} = -pL^{-1} \left[\sum_{n=0}^{\infty} a_{n} x^{n} \right] - L^{-1}(1) - L^{-1}(y_{0}),$$

$$= -\frac{x^{2}}{2} - \left(\frac{1 - \cos(1)}{6\sin(1)} \right) x^{3} - \frac{a_{0}x^{4}}{24} - \frac{a_{1}x^{5}}{120} - \frac{a_{2}x^{6}}{360} - \frac{a_{3}x^{7}}{840} - \frac{a_{4}x^{8}}{1680} - \frac{a_{5}x^{9}}{30240} - \dots - \frac{a_{0}px^{2}}{2}$$

$$-\frac{a_{1}px^{3}}{6} - \frac{a_{2}px^{4}}{12} - \frac{a_{3}px^{4}}{20} - \frac{a_{4}px^{6}}{30} - \frac{a_{5}px^{7}}{42}.$$

1.0

For $y_1 = 0$ and p = 1, it can be shown that: $a_0 = -1$, $a_1 = \frac{\cos(1)-1}{\sin(1)}$, $a_2 = \frac{1}{2}$, $a_3 = \frac{1-\cos(1)}{6\sin(1)}$, $a_4 = \frac{-1}{24}$, $a_5 = \frac{\cos(1)-1}{120\sin(1)}$ Using equation (13), the solution to equation (14) is

therefore given by,

$$y(x) = \frac{x - x\cos(1)}{\sin(1)} + \frac{x^3\cos(1) - x^3}{6\sin(1)} + \frac{x^5 - x^5\cos(1)}{120\sin(1)} + \frac{x^7\cos(1) - x^7}{5040\sin(1)} - \frac{1}{2}x^2 + \frac{1}{24}x^4 - \frac{1}{720}x^6 + 1 - 1,$$
$$= \left(\frac{1 - \cos(1)}{\sin(1)}\right)\sin x + \cos x - 1$$

Example 2. [4]

$$y'' + xy = (3 - x - x^2 + x^3)\sin(x) + 4x\cos(x), \quad 0 \le x \le 1$$
(17)

 $y'(0) = -1, \quad u'(1) = 2\sin(1).$

In operator form, equation (17) can be written as,

 $L(y'') = (3 - x - x^2 + x^3) \sin(x) + 4x \cos(x) - xy (18)$

Using equation (12) we write equation (18) as follows:

$$\sum_{n=0}^{\infty} y_n(x) = (x - \Omega)y'(a) + \frac{\Omega}{2}y'(b) + \frac{1}{\Omega} \int_0^{\Omega} y(x)dx + L^{-1} \left[\sum_{n=0}^{\infty} a_n x^n\right] - pL^{-1} \left[\sum_{n=0}^{\infty} a_n x^n\right] + L^{-1} \left[(3 - x - x^2 + x^3)\sin(x) + 4x\cos(x)\right]$$
(19)
$$- L^{-1} \left[\sum_{n=0}^{\infty} xA_n\right]$$

Thus,

$$y_0 = (x - \Omega)(-1) + \frac{\Omega}{2}(2\sin(1)) + \frac{1}{\Omega} \int_0^\Omega u(x) dx + \int_0^x \int_0^x (a_0 x^0 + a_1 x^1 + a_2 x^2 + a_3 x^3 + a_4 x^4 + a_5 x^5 + \cdots) dx dx,$$

= $-x + \frac{a_0 x^2}{2} + \frac{a_1 x^3}{6} + \frac{a_2 x^4}{12} + \frac{a_3 x^5}{20} + \frac{a_4 x^6}{30} + \frac{a_5 x^7}{42} + \cdots.$

And

$$y_{1} = -pL^{-1} \left[\sum_{n=0}^{\infty} a_{n}x^{n} \right] - L^{-1} \left[(3 - x - x^{2} + x^{3}) \sin x + 4x \cos x \right] - L^{-1}(xA_{0})$$

$$= -p\int_{0}^{x} \int_{0}^{x} \left(a_{0}x^{0} + a_{1}x^{1} + a_{2}x^{2} + a_{3}x^{3} + a_{4}x^{4} + a_{5}x^{5} + \cdots \right) dxdx$$

$$- \int_{0}^{x} \int_{0}^{x} \left[(3 - x - x^{2} + x^{3}) \sin x + 4x \cos x \right] dxdx - \int_{0}^{x} \int_{0}^{x} (xy_{0}) dxdx,$$

Using the Taylor series of $\cos x$ and $\sin x$ of order 10 we find y_1 as follows:

$$y_1 = -\frac{a_1 p x^3}{6} - \frac{a_2 p x^4}{12} - \dots + \frac{7}{6} x^3 - \frac{1}{12} x^4 - \frac{7}{40} x^5 - \dots + \frac{1}{12} x^4 - \frac{1}{40} a_0 x^5 + \dots$$

For $y_1 = 0$ and p = 1, it can be shown that: $a_0 = -0$, $a_1 = 7$, $a_2 = 0$, $a_3 = -\frac{2}{7}$, $a_4 = 0$, $a_5 = \frac{43}{120}$ Using equation (13), the solution to equation (17) is therefore given by: $y = -x + \int_0^x \int_0^x (7x - \frac{7}{2}x^2 + \frac{43}{120}x^5 + \cdots) dx dx$ $= -x + \frac{7}{6}x^3 - \frac{7}{40}x^5 + \frac{43}{720}x^7 + \cdots$ $= -x + \frac{7}{3!}x^3 - \frac{21}{5!}x^5 + \frac{43}{7!}x^7 + \cdots$

Example 3. [4]

Consider the following nonlinear second-order two-point BVP,

$$y''-y^2 = 2\pi^2 \cos(2\pi x) - \sin^4(\pi x), \ 0 \le x \le 1$$

 $y'(0) = 0 = y'(1).$

We rewrite equation (20) as follows:

$$y'' = 2\pi^2 \cos(2\pi x) - \sin^4(\pi x) + y^2$$

Volume 9 Issue 9, September 2020

<u>www.ijsr.net</u> Licensed Under Creative Commons Attribution CC BY

Paper ID: SR20907164708

DOI: 10.21275/SR20907164708

1121

Using NMADM we find y₀ and y₁ as follows:

$$\begin{split} y_0 &= (x - \Omega)(0) + \frac{\Omega}{2}(0) + \frac{1}{\Omega} \int_0^\Omega u(x) dx + \int_0^x \int_0^x (a_0 x^0 + a_1 x^1 + a_2 x^2 + a_3 x^3 \\ &+ a_4 x^4 + a_5 x^5 + \cdots) dx dx, \\ &= \frac{a_0 x^2}{2} + \frac{a_1 x^3}{6} + \frac{a_2 x^4}{12} + \frac{a_3 x^5}{20} + \frac{a_4 x^6}{30} + \frac{a_5 x^7}{42} + \cdots \\ y_1 &= -p L^{-1} \left[\sum_{n=0}^\infty a_n x^n \right] - L_{xx}^{-1} \left[2\pi^2 \cos(2\pi x) - \sin^4(x\pi) \right] + L^{-1} [A_0(y^2)], \\ &= -p \int_0^x \int_0^x \left[a_0 x^0 + a_1 x^1 + a_2 x^2 + a_3 x^3 + a_4 x^4 + a_5 x^5 + \cdots \right] dx dx \\ &+ \int_0^x \int_0^x \left[2\pi^2 \cos(2\pi x) - \sin^4(x\pi) \right] dx dx - \int_0^x \int_0^x y_0^2 dx dx, \end{split}$$

Using the Taylor series of $cos(2\pi x)$ and $sin^4(\pi x)$ of order 10 we find y_1 as follows:

 $y_1 = -\frac{a_1 p x^3}{6} - \frac{a_2 p x^4}{12} - \dots + \pi^2 x^2 - \frac{1}{3} \pi^4 x^4 - \frac{1}{30} \pi^4 x^6 + \dots + \frac{1}{120} a_0^2 x^6 + \dots$

For
$$y_1 = 0$$
 and $p = 1$, it can be shown that:
 $a_0 = 2\pi^2$, $a_1 = 0$, $a_2 = -4\pi^4$, $a_3 = 0$, $a_4 = \frac{4}{3}\pi^6$, $a_5 = 0$ E

Using equation (13), the solution to equation (20) is therefore given by:

$$y = \int_0^x \int_0^x \left(2\pi^2 - 4\pi^4 x^2 + \frac{4}{3}\pi^6 x^6 + \cdots\right) dx dx$$

= $\pi^2 x^2 - \frac{1}{3}\pi^4 x^4 + \frac{2}{45}\pi^6 x^6 + \cdots$
= $(\pi x)^2 - \frac{1}{3}(\pi x)^4 + \frac{2}{45}(\pi x)^4 + \cdots$

Example 4. [4]

Consider the following nonlinear second two-point BVP:

$$y'' + e^{-2y} = 0, \quad 0 \le x \le 1$$

 $y'(0) = 1, \quad u'(1) = \frac{1}{2}.$
We rewrite equation (21) as follows:
 $y'' = -e^{-2y}, \quad 0 \le x \le 1$

Solution by NMADM

$$y_{0} = (x - \Omega)(1) + \frac{\Omega}{2}(\frac{1}{2}) + \frac{1}{\Omega} \int_{0}^{\Omega} u(x)dx + \int_{0}^{x} \int_{0}^{x} (a_{0}x^{0} + a_{1}x^{1} + a_{2}x^{2} + a_{3}x^{3} + a_{4}x^{4} + a_{5}x^{5} + \cdots)dxdx,$$

$$= x + \frac{a_{0}x^{2}}{2} + \frac{a_{1}x^{3}}{6} + \frac{a_{2}x^{4}}{12} + \frac{a_{3}x^{5}}{20} + \frac{a_{4}x^{6}}{30} + \frac{a_{5}x^{7}}{42} + \cdots .$$

$$y_{1} = -p \int_{0}^{x} \int_{0}^{x} [a_{0}x^{0} + a_{1}x^{1} + a_{2}x^{2} + a_{3}x^{3} + a_{4}x^{4} + a_{5}x^{5} + \cdots]dxdx - \int_{0}^{x} \int_{0}^{x} e^{-2y_{0}}dxdx,$$

Using the Taylor series of e^{y^0} of order 10, we evaluate y_1 as follows:

$$y_1 = -\frac{a_1 p x^3}{6} - \frac{a_2 p x^4}{12} - \frac{a_3 p x^4}{20} - \dots - \frac{1}{2} x^2 + \frac{1}{3} x^3 - \frac{1}{6} x^4 + \frac{1}{12} a_0 x^4 + \dots$$

For $y_1 = 0$ and p = 1, it can be shown that $a_0 = -1, a_1 = 2, a_2 = -3, a_3 = 4, a_4 = -5, a_5 = 6.$

Using equation (13), the solution to equation (21) is therefore given by: $y = x + \int_0^x \int_0^x (-1 + 2x - 3x^2 + 4x^3 - 5x^4 + 6x^5 + \cdots) dx dx$ $= x - \frac{1}{2}x^2 + \frac{1}{3}x^3 - \frac{1}{4}x^4 + \frac{1}{5}x^5 - \frac{1}{6}x^6 + \frac{1}{7}x^7 + \cdots$

4. Conclusion

The modified Adomian decomposition method has been modified by incorporating the inverse linear operator theorem. The resulting method is the new Adomian decomposi-tion method. The new method has been proved to be effective and efficient in solving second-order boundary value problems with Neumann conditions. It is demonstrated through four examples that the method has the ability of solving second-order BVPs with Neumann conditions. The results obtained confirm with the results obtained in [4] where a different method was applied. It is important to note that unlike in traditional ADM, NMADM requires the calculation of u_0 and u_1 only. Further, for nonlinear terms, it requires A_0 only. It is also observed that using NMADM, the solutions are obtained in closed form.

Volume 9 Issue 9, September 2020 www.ijsr.net

Licensed Under Creative Commons Attribution CC BY

References

- Ramadan M.K., Lashien I.F. and Zahra W.K., Polynomials and nonpolynomial spline approaches to the numerical solution of second order boundary value problems. Appl.Math.Comput.184(2)(2007), 476–484. http://dx.doi.org/10.1016/j.amc.2006.06.053.
- [2] Bin L., Huan-Wen L. and Yanping C., Polynomial spline approach for solving second- order boundaryvalue problems with Neumann conditions. Appl.Math.Comput.217(2011) 6872 - 6882. http:// dx.doi.org/10.1016/j.amc.2011.01.047.
- [3] Emald N.A., Abdelhalim E. and Rach R., Advances in the Adomian decomposition method for solving twopoint nonlinear boundary value problems with Neumann boundary conditions. Comput. Math. Appl. 63(2012)

1056-1065.http://dx.org/10.1016/j.camwa.2011.12.010.

- [4] Al- Hayani W., An Efficient Advanced Adomian Decomposition Method to solve Problems with Neumannn Conditions. International Mathematical Forum, Vol 10, 2015, no. 1, 13 – 23 http://dx.doi.org/10.12988/imf.2015. 410182.
- [5] Adomian G., Stochastic Systems, Academic Press, New York, 1983.
- [6] Adomian G., Nonlinear Stochastic Operator Equations, Academic Press, New York, 1986. http://dx.doi.org/10.1016/ b978 - 0 - 12 - 044375 -8.50024 - 1.
- [7] Adomian G., Nonlinear Stochastic Systems Theory and Applications to Physics, Kluwer Academic Publishers. Dordrecht, 1989.

http://dx.doi.org/10.1002/zamm.19900700818.

- [8] Adomian G., Solving Frontier Problems of Physics. The Decomposition Method, Kluwer Academic Publishers. Dordrecht, 1994. http://dx.doi.org/10.1007/978 - 94 -015 - 8289 - 64.
- [9] Saelao J. and Yokchoo N., The solution of Klein-Gordon equation by using modi- fied Adomian decomposition method, Mathematics and Computers in Simulation (2019), https://doi.org/10.1016/j.matcom.2019.10.010.
- [10] Alderremy A.A., Elzaki M.T. and Chamekh M., Modified Adomian Decompositin Method to Solve Generalized Emdem-Fowler Systems for Singular IVP Mathematics Prob- lems in Engineering. Volume
- 2019. Article ID 6097095, 6 pages.[11] Biazar J. and Hossein K.A., A modified Adomian decomposition method for singular initial value Emdem-Fowler type equations. ResearchGate, 2016.